
ΕΠΑΝΑΛΗΨΗ ΔΕΚΑΔΙΚΟΙ ΑΡΙΘΜΟΙ 

1.  Ανάλυση αριθμού 

5.632 = __________________________________________________________ 

 

2. Αριθμός   52.347 

Αξία   5 →    2→ 

   3→    4→    7→ 

 

3. 2.49 > ________ > 2.48 

 

4. 59.2 + 42.08 =    63 – 3.26 =   2.12 × 5.6 =   

 

 

 

 

 

5.  

 

 

6. 23.002 – 1.74 + 2 =________________ 

 

0.3 × 2 = ___ 0.8 × 4 = ___ 0.3 × 0.3 = ___ 0.6 × 0.3 = ___ 0.8 × 0.5 = ___ 



7. Συμπληρώστε με τον κατάλληλο αριθμό: 

7.93 + _______ = 10 

 

20 – ________ = 13.57 

 

________ – 5.87 = 3.14 

 

4 + 8.16 – _________ = 5.2 

 

8.       P = 20.12 cm 

      w = _____ 

 

 

 

9.       A = 91 in2 

       l = ____ 

 

 

 

 

10. Συμπλήρωσε με « + » ή « - » 

17.2 …. 5.3 …. 7.81….4.03 = 15.68 

 

7.06 cm 

w 

l 

14 in 


